FHLf
f{éfi:éﬁ;}i :

B LA

s

*
7

CX-h L2
3 2
ﬂ“““J S

Ealivh i k0l

B

2 &> & & 45 s

o

7 ® 7 31
3PP 105 # 9 1 23 p
fo# i pax

Bk~ R A g > MRER
HeAR & i 4 ik
1-1-1 PR ~ fr'E - J5m o WREEFEGEAHEAREY) -
1-2-3 B2 NIt 7 BIERR Ay R aR B 2 A = 2% -
E gy pik
3 & %24 (Big Ideas) B 42 B 42 (Essential Questions)
1. ¥ 25557 TG hEFAMBEERER
2. A i T S ik Az (k2 R e 3 4
(1) %3 5 25
(2) = K% 4 B
B 4 i Arif chdrit (Knowledge) B 4 i #Ag] ki (Skills)
HER Pend 00 62 38 Bl | &2 338 R 2502
R 4
23R g
.8y f w7

2.8+ F T BB F

1.

e
2

[

)

=

BT i

4 i Foas

=z 2\
189 fzﬁ\'

-

FY &> ¥ 0TE

B4 pEA AR AR AR P

£3 M W %

3.EAFY Fspe

oM A 4T
2.EHMEEMAIN F B A ik T
&)

(%53

AR At R

[§3:4 3]

[Flspgk] @ T 6 hE g RE O G - R R T & 8 £ 2 L o

EEA I Tl I

R




(1) 23R > RXBTRHEI ALATBHRI A
(2) #A==>218 > fFd HHFORR > W E R DT ERT AR 4
SIS T PR T
(3) SEHHI PR DB ERHERDE FRIL > A5 BY Ll Aih
EE 30
KE EHEARY G

[ cfmi=]
.o gk (Y BRI EERL PR
2. LR IF IR L AT MY R AT ROE R A AR (8 ERITA
3. AP RSk L BLBHCA P AR Y R B Al 0 1 E B R

KB LD 18 Xk

(=28 /WiF])] ' 53TA

(57 = »ctk]
(D) p 5=

AFRAFRLEEF RO

EERA3Er e S i B

ApdiiEad 2 izl

hoir A X B AR Y X6 2y fre B

WA BMEE S B APk
(2)Ip ™

O3 B oR- ) u Rt
AR & 4

AE AL H B Y ERR I E g
a4 =t ?? 2k
RERE AR AR B A BT RISk
2 HiE 2 AR i s 0 MR R BB B JEE B AR dpandi &




